Sections 4.1-4.3


Precalculus/Trig

Name_____________________
Review







Period ______

You need to be able to do questions  #1-16 without using a calculator. 
1.  Use the given function value and the trig identities to find the values of the other 5 trig functions given that 
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2. Use the given function value and the trig identities to find the values of the other 4 trig functions:    
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3.  Find the exact values of the six trig functions for angle A.
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4.  Use trig identities to transform the left side of the equation into the right side.

a)  
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b) 
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5.  State the quadrant in which 
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      a)  tan
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 > 0  and  sec
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b)  cos
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 > 0  and  csc
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6.  Evaluate the six trig functions when 
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. Give exact values.
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7.  Name the trigonometric functions that are undefined for the following angles:

	      Quadrantal angle
	Undefined trig function
	Undefined trig function
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8.  Determine the quadrant in which each angle lies.


a)  
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b)  3.9



c)  
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9.  Determine two coterminal angles (one positive and one negative) for each angle, using 
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 radians on part a) and degrees on part b).
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10.  Find (if possible) and simplify the complement and supplement of each angle.


a)  
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11.  Rewrite 160° in radian measure as a multiple of 
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12.  Rewrite 
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in degree measure.

13.  Find the radian measure of the central angle of a circle of radius 10 inches that intercepts an arc of length 
[image: image49.wmf]14

 inches.

14.  Find the radius of a circle with arc length of 6 in. intercepted by the central angle 
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15.  If 
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, evaluate each of the following functions: 
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16. Each of the following statements is incorrect. Explain why.

a) 
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b) cos
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 > 0  and  sec 
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c) tan 
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d) 
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 is a quadrantal angle       

e) 
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f) 43.84526 rounded to the nearest tenth is 43.9   

g)  a calculator shows that 
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You should be able to do the following questions with a calculator. 
17.  A bicycle wheel with a radius of 12 inches makes 3.5 revolutions per second.  Find the speed of the bicycle in miles per hour?  Round your answer to the nearest tenth.

18.  The circular blade of a saw has a diameter of 6 inches and rotates at 2400 revolutions per minute.  

a) Find the angular speed in radians per second.

b) Find the exact linear velocity of the saw teeth (on the rim of the saw blade) in feet per second as the saw teeth contact the wood being cut.

19.  A support wire for a tree making an angle of 63° with the ground is stretched from a stake in the ground 16 feet from the base of the tree to a point on the tree 5 feet below its top. 

a) How long is the wire to the nearest tenth of a foot?

b) How tall is the tree to the nearest hundredth of a foot?
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